

Los Angeles County Public Works Project Management Division III BID SUMMARY (sorted by Unit Price Total)

Addenda: 0

Duration: 130 Day(s)

Project Name: Eastern Avenue TSSP - Medford Street to Olympic Boulevard

\$2,800.00

CY

\$8,400.00

Project ID: TSM0010456 Bids Opened: 10/14/2025

PCC PAVEMENT

Project Manager: Khosrow Benyamin 310-435-6161

				Engineer's Estimate		(1) California Professional Engineering, Inc.		(2) Elecnor Belco Electric, Inc.		(3) Crosstown Electrical & Data, Inc.		(4) Servitek Electric, Inc.	
(1) Pre	eliminary Bid Amount						1,106,243.50	\$	1,114,989.00	\$	1,229,284.00	\$	1,624,965.00
(2) Un	it Price Detail												
<u>ltem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
1	CONSTRUCTION SCHEDULE (BASELINE) (STIPULATED UNIT PRICE OF \$2,500)	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
2	CONSTRUCTION SCHEDULE (UPDATE) (STIPULATED UNIT PRICE OF \$500/MONTH)	6	\$500.00	MTH	\$3,000.00	\$500.00	\$3,000.00	\$500.00	\$3,000.00	\$500.00	\$3,000.00	\$500.00	\$3,000.00
3	CONSTRUCTION SCHEDULE (AS-BUILT) (STIPULATED UNIT PRICE OF \$1,000)	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
4	IMPLEMENTATION OF THE LTWHP	1	\$4,500.00	LS	\$4,500.00	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00	\$5,600.00	\$5,600.00
5	IMPLEMENTATION OF BMPS	1	\$3,500.00	LS	\$3,500.00	\$2,000.00	\$2,000.00	\$1,138.00	\$1,138.00	\$6,500.00	\$6,500.00	\$5,600.00	\$5,600.00
6	MOBILIZATION	1	\$140,000.00	LS	\$140,000.00	\$46,285.00	\$46,285.00	\$26,000.00	\$26,000.00	\$25,000.00	\$25,000.00	\$70,000.00	\$70,000.00
7	EXPLORATORY EXCAVATION OF UTILITIES (ALLOWANCE OF \$10,000)	10000	\$1.00	AL	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
8	CONCRETÉ REMOVAL (NON- REINFORCED)	12	\$1,100.00	CY	\$13,200.00	\$920.00	\$11,040.00	\$911.00	\$10,932.00	\$980.00	\$11,760.00	\$1,120.00	\$13,440.00
9	UNCLASSIFIED EXCAVATION	4	\$1,100.00	CY	\$4,400.00	\$805.00	\$3,220.00	\$797.00	\$3,188.00	\$855.00	\$3,420.00	\$980.00	\$3,920.00
10	CRUSHED MISCELLANEOUS BASE	4	\$900.00	CY	\$3,600.00	\$690.00	\$2,760.00	\$683.00	\$2,732.00	\$735.00	\$2,940.00	\$840.00	\$3,360.00
11	TRENCH BACKFILL SLURRY (CLASS 270-E-500)	1	\$1,000.00	CY	\$1,000.00	\$1,150.00	\$1,150.00	\$1,138.00	\$1,138.00	\$1,225.00	\$1,225.00	\$1,400.00	\$1,400.00
12	AC PAVEMENT	1	\$5,100.00	TON	\$5,100.00	\$4,600.00	\$4,600.00	\$4,552.00	\$4,552.00	\$4,890.00	\$4,890.00	\$5,600.00	\$5,600.00

\$6,900.00

\$2,276.00

\$6,828.00

\$2,450.00

\$7,350.00

\$2,800.00

\$8,400.00

\$2,300.00

Project ID: TSM0010456

Bids Opened: 10/14/2025 Project Manager: Khosrow Benyamin 310-435-6161

				Engine	eer's Estimate	(1) California Professional Engineering, Inc.		(2) Elecnor Belco Electric, Inc.		(3) Crosstown Electrical & Data, Inc.		(4) Servitek Electric, Inc.		
(1) Pre	eliminary Bid Amount						\$1,106,243.50		\$1,114,989.00		\$1,229,284.00		\$1,624,965.00	
(2) Un	it Price Detail													
<u>Ìtem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	
14	PCC CURB & GUTTER, TYPE	88	\$270.00	LF	\$23,760.00	\$172.50	\$15,180.00	\$171.00	\$15,048.00	\$185.00	\$16,280.00	\$210.00	\$18,480.00	
	A2-VAR													
15	PCC WALK & CURB RAMPS,	576	\$60.00	SF	\$34,560.00	\$60.00	\$34,560.00	\$60.00	\$34,560.00	\$65.00	\$37,440.00	\$73.00	\$42,048.00	
	4" THICK													
16	DETECTABLE WARNING	480	\$270.00	SF	\$129,600.00	\$69.00	\$33,120.00	\$68.00	\$32,640.00	\$75.00	\$36,000.00	\$84.00	\$40,320.00	
	SURFACE													
17	1-1/2" CONDUIT (SCH 80 PVC)	5	\$90.00	LF	\$450.00	\$100.00	\$500.00	\$86.00	\$430.00	\$380.00	\$1,900.00	\$75.00	\$375.00	
18	2" CONDUIT (SCH 80 PVC)	410	\$100.00	LF	\$41,000.00	\$70.00	\$28,700.00	\$99.00	\$40,590.00	\$155.00	\$63,550.00	\$49.00	\$20,090.00	
19	3" CONDUIT (SCH 80 PVC)	365	\$110.00	LF	\$40,150.00	\$80.00	\$29,200.00	\$170.00	\$62,050.00	\$180.00	\$65,700.00	\$51.00	\$18,615.00	
20	4" CONDUIT (SCH 80 PVC)	50	\$120.00	LF	\$6,000.00	\$100.00	\$5,000.00	\$70.00	\$3,500.00	\$225.00	\$11,250.00	\$56.00	\$2,800.00	
21	2-PAIR DETECTOR LEAD-IN	1200	\$5.00	LF	\$6,000.00	\$2.10	\$2,520.00	\$3.00	\$3,600.00	\$2.00	\$2,400.00	\$8.00	\$9,600.00	
	CABLE		4= 00		40.000.00		40.540.00		45.404.00	40.50	44.000.00	A-00	*******	
22	3-CONDUCTOR SIGNAL	1340	\$7.00	LF	\$9,380.00	\$1.90	\$2,546.00	\$4.10	\$5,494.00	\$3.50	\$4,690.00	\$7.00	\$9,380.00	
	CABLE(EXCLUDING													
- 00	CONDUIT)	4000	\$13.00	LF	\$25,480.00	\$3.15	\$6,174.00	\$7.30	\$14,308.00	\$21.00	\$41,160.00	\$10.00	\$19,600.00	
23	12-CONDUCTOR SIGNAL	1960	φ13.00	LF	φ25,460.00	φ3.13	φ0,174.00	Ψ1.30	φ14,306.00	φ2 1.00	φ41,100.00	φ10.00	\$19,000.00	
	CABLE(EXCLUDING CONDUIT)													
24	#14 SINGLE THWN	4085	\$2.75	LF	\$11,233.75	\$1.80	\$7,353.00	\$2.00	\$8,170.00	\$5.00	\$20,425.00	\$6.00	\$24,510.00	
24	CONDUCTOR	4000	Ψ2.70	LI	Ψ11,200.70	Ψ1.00	ψ1,000.00	Ψ2.00	ψο, 17 0.00	ψ0.00	Ψ20, 420.00	Ψ0.00	ΨΣ-4,010.00	
25	#6 WIRE	420	\$5.00	LF	\$2,100.00	\$2.75	\$1,155.00	\$3.30	\$1,386.00	\$3.50	\$1,470.00	\$7.00	\$2,940.00	
26	#10 WIRE	2435	\$4.00	LF	\$9,740.00	\$2.10	\$5,113.50	\$2.00	\$4,870.00	\$3.00	\$7,305.00	\$6.00	\$14,610.00	
27	TYPE II PULL BOX	8	\$2,200.00	EA	\$17,600.00	\$1,600.00	\$12,800.00	\$1,968.00	\$15,744.00	\$2,085.00	\$16,680.00	\$2,667.00	\$21,336.00	
28	TYPE III PULL BOX	10	\$2,500.00	EA	\$25,000.00	\$1,800.00	\$18,000.00	\$2,580.00	\$25,800.00	\$2,305.00	\$23,050.00	\$3,353.00	\$33,530.00	
29	INDUCTIVE LOOP DETECTOR	3850	\$28.00	LF	\$107,800.00	\$17.00	\$65,450.00	\$17.00	\$65,450.00	\$20.00	\$77,000.00	\$46.00	\$177,100.00	
	AND LEADS SAW CUT													
30	2-CAMERA VIDEO/RADAR	1	\$40,000.00	EA	\$40,000.00	\$38,400.00	\$38,400.00	\$35,905.00	\$35,905.00	\$33,151.00	\$33,151.00	\$37,596.00	\$37,596.00	
	DETECTION SYSTEM WITH													
	17" LCD MONITOR DRAWER													
	(COMPLETE) - EASTERN AV													
	@ SHERIFF RD													
31	2-CAMERA VIDEO/RADAR	1	\$40,000.00	EA	\$40,000.00	\$38,400.00	\$38,400.00	\$36,298.00	\$36,298.00	\$33,595.00	\$33,595.00	\$38,159.00	\$38,159.00	
	DETECTION SYSTEM WITH													
	17" LCD MONITOR DRAWER													

Project ID: TSM0010456
Bids Opened: 10/14/2025

Bids Opened: 10/14/2025 Project Manager: Khosrow Benyamin 310-435-6161

			Engine	eer's Estimate	(1) California Professional Engineering, Inc.		(2) Elecnor Belco Electric, Inc.		(3) Crosstown Electrical & Data, Inc.		(4) Servitek Electric, Inc.		
(1) Pre	eliminary Bid Amount					\$	1,106,243.50	\$	1,114,989.00	\$	1,229,284.00	\$^	1,624,965.00
(2) Un	it Price Detail												
<u>ltem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
	(COMPLETE) - EASTERN AV												
	@ FLORAL DR												
32	2-CAMERA VIDEO/RADAR	1	\$40,000.00	EA	\$40,000.00	\$38,400.00	\$38,400.00	\$36,298.00	\$36,298.00	\$33,595.00	\$33,595.00	\$38,159.00	\$38,159.00
	DETECTION SYSTEM WITH												
	17" LCD MONITOR DRAWER												
	(COMPLETE) - EASTERN AV @ HAMMEL ST												
33	2-CAMERA VIDEO/RADAR	1	\$40,000.00	EA	\$40,000.00	\$38,400.00	\$38,400.00	\$36,298.00	\$36,298.00	\$22,595.00	\$22,595.00	\$38,159.00	\$38,159.00
33	DETECTION SYSTEM WITH	'	+ ,		+ ,	+ ,	755,15515	***,=*****	***,=****	,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	****	,
	17" LCD MONITOR DRAWER												
	(COMPLETE) - EASTERN AV												
	@ MICHIGAN AV												
34	4-CAMERA VIDEO/RADAR	1	\$60,000.00	EA	\$60,000.00	\$55,750.00	\$55,750.00	\$52,088.00	\$52,088.00	\$51,740.00	\$51,740.00	\$58,589.00	\$58,589.00
	DETECTION SYSTEM WITH												
	17" LCD MONITOR DRAWER												
	(COMPLETE) - EASTERN AV @ 1ST ST												
35	RELOCATE 2- CAMERA	1	\$2,500.00	EA	\$2,500.00	\$9,000.00	\$9,000.00	\$5,000.00	\$5,000.00	\$10,050.00	\$10,050.00	\$2,400.00	\$2,400.00
33	VIDEO DETECTION SYSTEM	1	Ψ2,000.00	LA	Ψ2,000.00	ψο,σσσ.σσ	ψο,σσσ.σσ	ψο,σσσ.σσ	ψο,σσσ.σσ	Ψ10,000.00	Ψ10,000.00	Ψ2, 400.00	Ψ2,400.00
	(COMPLETE)												
36	REMOVE TYPE 332 CABINET	2	\$2,500.00	EA	\$5,000.00	\$700.00	\$1,400.00	\$1,000.00	\$2,000.00	\$1,165.00	\$2,330.00	\$6,000.00	\$12,000.00
37	REMOVE CONTROLLER	6	\$200.00	EA	\$1,200.00	\$100.00	\$600.00	\$200.00	\$1,200.00	\$180.00	\$1,080.00	\$2,400.00	\$14,400.00
38	REMOVE PULL BOX AND	1	\$2,000.00	EA	\$2,000.00	\$600.00	\$600.00	\$2,155.00	\$2,155.00	\$1,105.00	\$1,105.00	\$1,200.00	\$1,200.00
	RESURFACE SIDEWALK												
39	REMOVE LUMINAIRE	8	\$300.00	EA	\$2,400.00	\$50.00	\$400.00	\$200.00	\$1,600.00	\$90.00	\$720.00	\$600.00	\$4,800.00
40	REMOVE VEHICLE HEAD	17	\$300.00	EA	\$5,100.00	\$100.00	\$1,700.00	\$200.00	\$3,400.00	\$95.00	\$1,615.00	\$900.00	\$15,300.00
44	(COMPLETE)		\$300.00		\$1,500.00	\$100.00	\$500.00	\$200.00	\$1,000.00	\$110.00	\$550.00	\$900.00	\$4,500.00
41	REMOVE PEDESTRIAN HEAD (COMPLETE)	5	φ300.00	EA	\$1,500.00	φ100.00	φ500.00	\$200.00	\$1,000.00	φ110.00	\$350.00	\$900.00	φ4,500.00
42	REMOVE PEDESTRIAN PUSH	2	\$200.00	EA	\$400.00	\$50.00	\$100.00	\$100.00	\$200.00	\$90.00	\$180.00	\$1,800.00	\$3,600.00
42	BUTTON	2	Ψ200.00		ψ100.00	ψου.σσ	Ψ100.00	Ψ100.00	Ψ200.00	Ψ00.00	Ψ100.00	ψ1,000.00	ψο,σσσ.σσ
43	REMOVE PED PUSH BUTTON	3	\$300.00	EA	\$900.00	\$500.00	\$1,500.00	\$500.00	\$1,500.00	\$525.00	\$1,575.00	\$1,800.00	\$5,400.00
	AND COLD WELD HOLE TO	,		_									
	SMOOTH FINISH												

Project ID: TSM0010456
Bids Opened: 10/14/2025

Bids Opened: 10/14/2025 Project Manager: Khosrow Benyamin 310-435-6161

				Engineer's Estimate		(1) California Professional Engineering, Inc.		(2) Elecnor Belco Electric, Inc.		(3) Crosstown Electrical & Data, Inc.		(4) Servitek	Electric, Inc.
(1) Pre	eliminary Bid Amount						1,106,243.50	\$	31,114,989.00	\$	1,229,284.00	\$	1,624,965.00
(2) Un	it Price Detail												
<u>Ìtem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
44	REMOVE TYPE 332 CABINET	1	\$2,050.00	EA	\$2,050.00	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	\$445.00	\$445.00	\$2,100.00	\$2,100.00
	FOUNDATION												
45	REMOVE ILD SENSOR UNIT	13	\$65.00	EA	\$845.00	\$50.00	\$650.00	\$20.00	\$260.00	\$45.00	\$585.00	\$600.00	\$7,800.00
46	REMOVE RADIO CORRECTED	1	\$300.00	EA	\$300.00	\$150.00	\$150.00	\$200.00	\$200.00	\$180.00	\$180.00	\$600.00	\$600.00
	TIME BASE UNIT												
47	REMOVE RCTB ANTENNA	1	\$300.00	EA	\$300.00	\$100.00	\$100.00	\$200.00	\$200.00	\$180.00	\$180.00	\$600.00	\$600.00
	AND CABLE												
48	REMOVE GPS UTB UNIT &	5	\$300.00	EA	\$1,500.00	\$100.00	\$500.00	\$200.00	\$1,000.00	\$180.00	\$900.00	\$600.00	\$3,000.00
	ANTENNA		#050.00		#700.00	# 500.00	#4.000.00	#450.00	*	# 4.040.00	#0.000.00	# 0.000.00	40.000.00
49	RELOCATE PEDESTRIAN	2	\$350.00	EA	\$700.00	\$500.00	\$1,000.00	\$150.00	\$300.00	\$1,010.00	\$2,020.00	\$3,000.00	\$6,000.00
	PUSH BUTTON		\$15,000.00		\$120,000.00	\$16,500.00	\$132,000.00	\$15,100.00	\$120,800.00	\$14,880.00	\$119,040.00	\$19,646.00	\$157,168.00
50	TYPE 2070 LX CONTROLLER WITH LINUX PROCESSOR	8	\$15,000.00	EA	\$ 120,000.00	\$10,500.00	\$132,000.00	φ15,100.00	\$120,000.00	Ф14,000.00	\$119,040.00	\$19,040.00	\$157,100.00
	AND D4 PROGRAM												
51	2070 7G GPS MODULE AND	7	\$2,800.00	EA	\$19,600.00	\$4,000.00	\$28,000.00	\$3,820.00	\$26,740.00	\$4,165.00	\$29,155.00	\$5,477.00	\$38,339.00
31	ANTENNA	,	Ψ2,000.00	LA	ψ10,000.00	ψ1,000.00	Ψ20,000.00	ψ0,020.00	Ψ20,7 10.00	ψ1,100.00	Ψ20,100.00	ψο, 177.00	φου,σου.σο
52	SWITCH PACK	13	\$110.00	EA	\$1,430.00	\$100.00	\$1,300.00	\$52.00	\$676.00	\$125.00	\$1,625.00	\$1,266.00	\$16,458.00
53	PED ISOLATION MODULE	3	\$140.00	EA	\$420.00	\$129.00	\$387.00	\$106.00	\$318.00	\$220.00	\$660.00	\$2,534.00	\$7,602.00
54	REMOVE CONFLICT	6	\$300.00	EA	\$1,800.00	\$250.00	\$1,500.00	\$200.00	\$1,200.00	\$180.00	\$1,080.00	\$600.00	\$3,600.00
	MONITOR												
55	2010 ECL CONFLICT	8	\$2,500.00	EA	\$20,000.00	\$3,200.00	\$25,600.00	\$2,695.00	\$21,560.00	\$2,370.00	\$18,960.00	\$4,323.00	\$34,584.00
	MONITOR												
56	2-CHANNEL ILD SENSOR	8	\$250.00	EA	\$2,000.00	\$430.00	\$3,440.00	\$322.00	\$2,576.00	\$330.00	\$2,640.00	\$1,005.00	\$8,040.00
	UNIT												
57	TYPE 332 CABINET	2	\$38,000.00	EA	\$76,000.00	\$27,500.00	\$55,000.00	\$25,938.00	\$51,876.00	\$27,020.00	\$54,040.00	\$34,095.00	\$68,190.00
58	TYPE 332 CABINET	1	\$6,000.00	EA	\$6,000.00	\$3,200.00	\$3,200.00	\$2,500.00	\$2,500.00	\$3,165.00	\$3,165.00	\$4,950.00	\$4,950.00
	FOUNDATION												
59	REWIRE CONTROLLER	1	\$2,000.00	EA	\$2,000.00	\$2,000.00	\$2,000.00	\$1,630.00	\$1,630.00	\$2,950.00	\$2,950.00	\$1,950.00	\$1,950.00
	CABINET		* + = • • • •		* 4 2 2 2 2 2 2 2		* 4 2 2 2 2 2 2 2		011.101.00	* 1 == 0 00	* 40 400 00	44.700.00	******
60	250 W EQ LED LUMINAIRE	8	\$1,700.00	EA	\$13,600.00	\$1,600.00	\$12,800.00	\$1,433.00	\$11,464.00	\$1,550.00	\$12,400.00	\$1,733.00	\$13,864.00
61	PEDESTRIAN PUSH BUTTON	12	\$400.00	EA	\$4,800.00	\$450.00	\$5,400.00	\$512.00	\$6,144.00	\$755.00	\$9,060.00	\$983.00	\$11,796.00
62	PEDESTRIAN PUSH BUTTON	12	\$50.00	EA	\$600.00	\$50.00	\$600.00	\$32.00	\$384.00	\$35.00	\$420.00	\$642.00	\$7,704.00
	PLATE												

Project ID: TSM0010456 Bids Opened: 10/14/2025

Bids Opened: 10/14/2025 Project Manager: Khosrow Benyamin 310-435-6161

		Engineer's Estimate		(1) California Professional Engineering, Inc.		(2) Elecnor Belco Electric, Inc.		(3) Crosstown Electrical & Data, Inc.		(4) Servitek Electric, Inc.			
(1) Pre	eliminary Bid Amount						\$1,106,243.50	\$	1,114,989.00	\$	1,229,284.00	(\$1,624,965.00
(2) Un	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
63	PEDESTRIAN PUSH BUTTON POST	2	\$2,000.00	EA	\$4,000.00	\$1,500.00	\$3,000.00	\$1,608.00	\$3,216.00	\$1,075.00	\$2,150.00	\$3,500.00	\$7,000.00
64	PEDESTRIAN PUSH BUTTON POST FOUNDATION	2	\$2,500.00	EA	\$5,000.00	\$1,000.00	\$2,000.00	\$1,000.00	\$2,000.00	\$1,280.00	\$2,560.00	\$1,575.00	\$3,150.00
65	3-12" LED VEHICLE HEAD (COMPLETE)	15	\$2,000.00	EA	\$30,000.00	\$2,050.00	\$30,750.00	\$2,011.00	\$30,165.00	\$1,885.00	\$28,275.00	\$2,475.00	\$37,125.00
66	5-12" LED VÉHICLE HEAD (COMPLETE)	3	\$3,100.00	EA	\$9,300.00	\$2,640.00	\$7,920.00	\$3,059.00	\$9,177.00	\$2,485.00	\$7,455.00	\$3,140.00	\$9,420.00
67	LED PEDESTRIAN HEAD (COMPLETE)	5	\$1,100.00	EA	\$5,500.00	\$1,710.00	\$8,550.00	\$1,560.00	\$7,800.00	\$1,295.00	\$6,475.00	\$1,908.00	\$9,540.00
68	RETROFIT LED PEDESTRIAN HEAD TO LED COUNTDOWN PEDESTRIAN HEAD	6	\$600.00	EA	\$3,600.00	\$370.00	\$2,220.00	\$805.00	\$4,830.00	\$355.00	\$2,130.00	\$959.00	\$5,754.00
69	SALVAGE EQUIPMENT	1	\$10,000.00	LS	\$10,000.00	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$9,000.00	\$9,000.00
70	DETAIL 21 (THERMOPLASTIC)	20	\$9.00	LF	\$180.00	\$23.00	\$460.00	\$22.80	\$456.00	\$24.00	\$480.00	\$28.00	\$560.00
71	REMOVE CONFLICTING STRIPING	2570	\$5.00	LF	\$12,850.00	\$26.40	\$67,848.00	\$26.20	\$67,334.00	\$28.00	\$71,960.00	\$33.00	\$84,810.00
72	12" STRIPING (THERMOPLASTIC)	580	\$7.00	LF	\$4,060.00	\$9.20	\$5,336.00	\$9.10	\$5,278.00	\$10.00	\$5,800.00	\$12.00	\$6,960.00
73	24" STRIPING (THERMOPLASTIC)	4135	\$10.00	LF	\$41,350.00	\$18.40	\$76,084.00	\$18.20	\$75,257.00	\$20.00	\$82,700.00	\$23.00	\$95,105.00
74	4" STRIPING (THERMOPLASTIC)	20	\$7.00	LF	\$140.00	\$11.50	\$230.00	\$11.40	\$228.00	\$12.00	\$240.00	\$14.00	\$280.00
75	TRAFFIC CONTROL	1	\$25,000.00	LS	\$25,000.00	\$25,942.00	\$25,942.00	\$20,000.00	\$20,000.00	\$30,000.00	\$30,000.00	\$70,000.00	\$70,000.00
76	FLASHING ARROW SIGN	2	\$1,500.00	EA	\$3,000.00	\$1,500.00	\$3,000.00	\$788.00	\$1,576.00	\$3,569.00	\$7,138.00	\$7,125.00	\$14,250.00
77	CHANGEABLE MESSAGE SIGN	2	\$4,000.00	EA	\$8,000.00	\$2,400.00	\$4,800.00	\$2,627.00	\$5,254.00	\$3,825.00	\$7,650.00	\$7,125.00	\$14,250.00
Unit Price Total		\$	1,366,978.75		\$1,106,243.50	\$	1,114,989.00	\$	1,229,284.00		\$1,624,965.00		
(3) LS	BE/DVBE/SE Preference Amount						\$0.00		\$0.00		\$0.00		\$0.00
(4) LS	BE/DVBE/SE Adjusted Amount						\$1,106,243.50	\$	1,114,989.00	\$	1,229,284.00		\$1,624,965.00
Comments							LOW BIDDER						